



namn: _____

Datum: _____ Poäng: _____

$$\left(\frac{1}{2}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right) + \frac{1}{4} =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{3}{5}\right) + \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{4} =$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) =$$



namn: _____

Datum: _____ Poäng: _____

$$\left(\frac{1}{2}\right)^3 - \frac{3}{4} = \left(-\frac{5}{8}\right)$$

$$\left(-\frac{3}{4}\right) + \frac{1}{4} = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} = \left(-\frac{437}{1080}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \frac{1}{5} = \left(-\frac{221}{1080}\right)$$

$$\left(-\frac{3}{5}\right) + \frac{1}{4} = \left(-\frac{7}{20}\right)$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{6}\right) = \frac{5}{18}$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{327}{320}\right) = \left(-1\frac{7}{320}\right)$$

$$\left(\frac{3}{4}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} = \left(-\frac{43}{80}\right)$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(\frac{3}{4}\right) - \left(-\frac{3}{5}\right) = \frac{27}{20} = 1\frac{7}{20}$$

$$\left(-\frac{1}{2}\right) - \frac{1}{2} = (-1)$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{5}\right) = \frac{21}{80}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{5}{24}\right)$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{4} = \left(-\frac{9}{100}\right)$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{3}{4}\right) = \frac{407}{500}$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{3}{5}\right) = \frac{13}{30}$$

$$\left(\frac{1}{5}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{3}{5}\right)^3 - \left(-\frac{1}{3}\right) = \frac{44}{375}$$